Algebra I Practice Test --- Mathematical Processes
(EOC Reporting Category 1)

1.  What is the value of the expression when x = –6 and y = 3?
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A.  –212 


B.  –644


C.  –652


D.  –2,591

2.  Tim’s weekly salary (before taxes), y, for working x hours is represented by the equation y = 11x + 50.  What does the slope represent in this situation?


A.  the number of hours Tim works 

     each week


B.  Tim’s weekly gas allowance


C.  the hourly wage Tim earns for 

      each hour he works


D.  the total amount Tim earns each 

      week

3.  Heather is buying a motorcycle from her brother for $5,120.  After making an initial payment of $800, she agrees to pay $135 per month for n months.  Which equation can Heather use to determine the number of months, n, it will take her to finish paying for the motorcycle?


A.  800 + 135n = 5,120


B.  5120 + 135n = 800


C.  800n + 135 = 5120


D.  
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4.  Simplify:  5x6(2x3 – 7x2 + x)


A.  10x18 – 35x12 + 5x6

B.  10x9 – 35x8 + 5x7


C.  10x18 – 35x8 + 5x7


D.  10x9 – 35x2 + 5x6
5.  Nick earns $1,500 per month plus a commission of 7% of the total dollar amount of each condominium he sells.  His total monthly earnings, T, are represented by the equation       T = 1500 + 0.07x, where x represents the total dollar amount of his sales for the month.  Which equation will represent his total monthly earnings in dollars if his commission increases an additional 3%?


A.  T = 1800 + 0.10x


B.  T = 1500 + 1.0x


C.  T = 1800 + 1.0x


D.  T = 1500 + 0.10x

6.  Ally and Rebekah each bought a pair of basketball shoes that cost $85 before a 25% discount.  Ally found the discount, in dollars, by evaluating 85(1 – 0.25), while Rebekah found the sale price of her shoes by evaluating 85 – 85(0.25).  What property justifies that Ally and Rebekah used equivalent expressions to calculate the cost after discount?


A.  associative property


B.  commutative property


C.  distributive property


D.  subtraction property of equality

7.  Which transformation occurs to the graph of y = –x + 7 when the equation of the line changes to         y = x + 7? 


A.  The line is reflected across the   

      y-axis.


B.  The line is reflected across the   

      x-axis.


C.  The line shifts up 7 units.


D.  The line shifts down 7 units.

8.  Kevin and his friends are renting a limousine for prom.  The total rental cost includes a one-time fee of $75 and 0.50 for each mile driven.  Which equation represents c, the total cost in dollars of renting a limousine that was driven n miles?

A.  c = 75 + 
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B.  c = 0.50 + 75n


C.  c = 0.50 + 
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D.  c = 75 + 0.50n

9.  A sequence is created from the function g(n) = 7n + 2, where n represents the position of the term in the sequence.  The sequence does not begin at 0.  Which list represents the first five terms of the sequence?


A.  7, 8, 9, 10, 11


B.  1, 8, 15, 22, 29


C.  9, 11, 13, 15, 17


D.  9, 16, 23, 30, 37

10.  Which function represents the data  shown in this table?

	n
	f(n)

	1
	–7

	2
	–4

	3
	–1

	4
	2

	5
	5



  A.  f(n) = n – 2 


  B.  f(n) = n – 8


  C.  f(n) = 2n – 6


  D.  f(n) = 3n – 10 

11.  What is the value of the expression when x = –10 and y = –7?
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A.  146


B.  –146


C.  246


D.  –246  
12.  Brandon and Brady are working the following problem.



3x + 5 + 8x + 7 + 9x + 11


Brandon decides to write the problem as shown below.



3x + 8x + 9x + 5 + 7 + 11


Brady does not rewrite the problem, but he gets the same answer as Brandon.  What property justifies that Brandon can rearrange the terms in the problem and have an equivalent expression?


A.  associative property


B.  commutative property


C.  distributive property


D.  addition property of equality

13.  The table shows Amacom’s 2009 shipping rates, s(w), for packages of maximum weight, w.  

	Maximum weight in pounds, w
	Shipping rate, s(w)

	1
	$2.45

	2
	$3.26

	3
	$4.07

	4
	$4.88

	5
	$5.69

	6
	$6.50

	7
	$7.31

	8
	$8.12


The pattern in the table continues.  Which value represents the shipping rate of 15-pound package?

A.  $12.17

B.  $12.98

C.  $13.79

D.  $14.60

14.  The total cost for touring the natural history museum includes a one-time tour guide fee and a cost per person taking the tour.  The relationship, n, the number of people going on the tour, and t, the total cost, is shown on the graph.

	Total cost (Dollars)
	
125

100

75

50


25
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	    0       10      20      30      40       50

	
	Number of People Taking Tour


       Which equation best represents the relationship between n and t?


A.  t = 5n + 25


B.  t = 5n – 25 


C.  t = –5n + 25


D.  t = –5n – 25   

15.  Which function best represents the data shown in the table?

Paper Cost

	Number of 
Cases, x
	Total Cost, 
f(x)

	1
	$26

	2
	$41

	3
	$56

	4
	$71

	5
	$86



A.  f(x) = x + 15


B.  f(x) = 10x + 16


C.  f(x) = 15x + 11


D.  f(x) = 11x + 15

16.  The temperature in degrees Fahrenheit, F, is equivalent to   nine-fifths of the degrees Celsius, C, plus thirty-two.  Which equation should Lyndsey use to convert today’s temperature from degrees Celsius into degrees Fahrenheit?


A.  
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17.  Simplify: 

 7(3x – 11y) + 2x – 5(x – 6y)

       A.  16x – 107y 

       B.  18x – 47y

       C.  18x – 107y 

       D.  16x + 47y

18.  A catering service charges based on the number of people attending a function.  The costs are summarized in this table.

Catering Cost

	Number of 

Guests
	Cost

	10
	$100

	25
	$190

	60
	$400

	100
	$640


       Which equation correctly expresses the relationship between the cost, c, and the number of guests, g, attending an event?

       A.  c = 10g

       B.  c = 2g + 80

       C.  c = 5g + 50

       D.  c = 6g + 40

19.  The total number of miles Lisa walks, L, including a 0.4-mile    warm-up, is given by L = 4t + 0.4.  The total number of miles Jeff walks, J, including a 0.2-mile   warm-up, is given by J = 3t + 0.2.  If t represents the time in hours after each walker’s warm-up, which statement best compares Lisa’s speed to Jeff’s speed?

A.  Jeff’s speed is 1mile per hour 

      faster than Lisa’s speed.


B.  Jeff’s speed is 1 mile per hour 

      slower than Lisa’s speed.


C.  Jeff’s speed is 2 miles per hour 

      faster than Lisa’s speed.


D.  Jeff’s speed is 2 miles per hour 

      slower than Lisa’s speed.

20.  As a fund raiser, the key club is collecting used cell phones to recycle.  The equation y = 5x + 50 represents the club’s earnings, y, based on collecting x cell phones.  What is represented by the slope in this equation?

A.  the number of cell phones 

     collected


B.  the amount of money earned if 

 
     no phones are collected


C.  the amount of money earned for 

     each phone


D.  the total amount of money made 

     during the fundraiser

21.  Simplify:  9x4(11x5 – 5x4 – 3x2 + 4x)

       A.  99x20 – 45x16 – 27x8 + 36x4

       B.  20x9 – 14x8 – 6x6 + 13x5

       C.  6x28

       D.  99x9 – 45x8 – 27x6 + 36x5
22.  Simplify:  

8x(2x2 – 3x) – 4x + 2x(5x2 – 9x)

       A.  –20x6
       B.  26x3 – 42x2 – 4x

       C.  6x3 – 6x2 – 4x 

       D.  26x3 + 6x2 – 4x  

23.  Which property is demonstrated 

       below?



5x(2x + 7) = 10x2 + 35x

       A.  associative property

       B.  commutative property

       C.  distributive property

       D.  multiplication property of 

      equality
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